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QUESTION 1

According to the ISTQB Advanced syllabus, which of the following would be the MOST effective method of
communication between test team members who are distributed across several time zones? [K2] 1 credit

A. Accurate recording of defect information in the defect tracking system

B. Accepting frequent builds from the developers to keep all testers working on the same version at the same time
C. Skype meetings for personal interaction

D. Weekly, mandatory meeting with all personnel present

Correct Answer: A

QUESTION 2

A diamond retailer is introducing a new stock taking system. Each diamond is assigned a character that represents the
colour. The valid domain for the character ranges from D to Z. The colour is then graded using the following scale:

Colour DF | G-J K-M N-R §-Z
Grade | Colourless Mear Faint Very light Lght
Colourless vellow vellow yellow

Which of the following test sets will provide the best equivalence partitioning coverage? [K3] 2 credits
A.D,F,G,H,K,M,N,P, T,Z

B.D,G,K,N, S

C.AEHLPT?

D.E,H, L M, U,

Correct Answer: C

QUESTION 3

As a test analyst you are gathering data to support accurate metrics. Which of the following metrics would be MOST
appropriate to use to monitor product quality? [K2] 1 credit

A. Defects found versus defects expected
B. Tests run and tests passed

C. Test resources spent versus budget
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D. Compliance to entry criteria
E. Product risks outstanding and new risks introduced

Correct Answer: ABE

QUESTION 4

Supercar Supercar is an online vehicle sales website specializing in single manufacturer\\'s Sports Utility Vehicles
(SUVs) and saloons. A vehicle has two key elements, power unit and body style. The manufacturer offers three choices
of power unit: petrol, diesel and hybrid. There are 3 main body styles: Saloon, Hatchback and SUV. SUVs only come as
petrol and diesel options. Hybrid is available for Hatchback only. The site will allow an order to be processed if the
chosen vehicle configurations are in stock, otherwise a message will be displayed asking the user to try again later.
Based on the specification the following classification tree has been developed:

L] i- | L] i- a
=3 e e

Based on the "Supercar" classification tree the following positive test cases have been created:

Test case Power Unit Body Style

1 Petrol SUV

2 Diesel Saloon

3 Petrol Hatchback

Which test case is needed to complete the set? [K3] 2 credits
A. Power Unit: Hybrid, Body Style: Saloon

B. Power Unit: Diesel, Body Style: Hatchback
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C. Power Unit: Petrol, Body Style: Saloon
D. Power Unit: Hybrid, Body Style: Hatchback

Correct Answer: D

QUESTION 5

How many invalid test cases can be identified from the "Route Calculation” state table provided? You may assume all
actions are different and independent. [K3] 3 credits

A.6
B.8
C. 102
D. 12

Correct Answer: A
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